
Possible Solutions 

 

On the number line below, each section is worth 0.2. You need to the first five sections to represent 

the 1, and three more sections to represent the 0.6. 

 

 

 

 

 

Using the guide below, note that there are ten equal parts in each square. You need all of one grid 

and six parts of another to represent 1.6. 

 

 

 

 

 

 

 

 

 

When using money to represent 1.6, the monetary value is $1.60. It can be done many ways, but the 

illustration below uses the fewest number of bills/coins. 

 

        

 

 
 

$1                25¢                 25¢             10¢ 

 

$1 + 25¢ + 25¢ 10¢ = $1.60 
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